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ART=TH 187 285 472 SRET 129 150 279
KAV YR BT 54 67 121 A ZERT 99 111 210
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FHFHT 320 365 685 R SCHT 242 263 505
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= ARET 60 51 111 TXET—TH 173 199 372
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BT 133 122 255 T 1,191 1,457 | 2,648
HrhT 35 41 76 R T 202 203 405
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YEHT 121 119 240 AT — T B 226 250 476
[\ X ] 1,908 | 2,188 | 4,096 [ % BiZX] 2,821 3,283 | 6,104
A HT 141 175 316 N 1, 592 1,864 | 3,456
Eayinil) 237 296 533 K HE R 1, 062 1,093 2,155
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FIFHT T H 155 205 360 FH AT 292 342 634
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R LT 169 192 361 HH P T 384 359 743
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KFHT—TH 95 109 204 [\ X ] 6, 056 6,910 | 12,966
KFHT T H 138 157 295 e ET 133 157 290
T 103 126 229 B R T 272 324 596




2H STT7T4HETH2 BEE

ITBAT 4 BB N4 R A 2K

WY 4 5 LS #t WY 4 5 LS i
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Jb s T 133 147 280 H 23 /A sl 1 1 2
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ARG PY T 107 116 293 AT PEER L 36 48 84
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T THT S £ 317 347 664
T T W] A4 979 1, 063 2, 042
T THT P 1,014 1, 181 2,195
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BT A 394 499 893
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FMT 110 120 230
T AT 332 365 697
SEHT |85 376 434 810
ST 8 A 544 636 1, 180
U] N H 700 841 1, 541
ST BT 399 493 892
HiHT 2 0 166 175 341
ST B Iy 178 179 357
ST E H 295 315 610
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SEHT EHIN 528 564 1, 092
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[SiHhX] 5,213 5,946 | 11,159
E LIRS 154 174 328
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